
70
9.

32

MA
ST

 S
EC

TIO
N 

01
 

1:1
5





62
7.

97

o

Ul

o





54
6.

61

< CD O o LU



MA
ST

 S
FC

nO
N-

Of
i 

1:1
5



MA
ST

 S
EC

TI
QN

-Q
7 

1:1
5







n noie
1. ALL DIMENSION ARE IN MILLIMETER .EXCEPT OTHERW1SE SHOWN.

2. QUALITY OF MATERIALS

STEEL BAR SHALL CONFORM TO TIS 20 

STEEL PIPE SHALL CONFORM TO TIS 277 
B0LTS4NUTS SHALL CONFORM TO OS 291 OR EQWVELANT 
B0LT4NU7SASPR1NG-WASHER SHALL BE HOT DIP GALVANIZED

3. ALL MATERIALS SHALL BE HOT-DIP GALVANIZED AFTR FABRICAOON AND CLEARING.

MEMÖERS AND PLATE CONFORM TO ASTM A123 STANDARD 

BOLTS *  nUTS CONFORM TO ASTM A153

4. SLOPE OF TOWER -0 .449  *

5. POWER CABLE CONFORM TO OS 11

- DOUBLE-OBSTRUCTION LIGHT

■ RIGID CÜNDDIT (INCLUDED)

14MM.H0LE FOR M12 U-BOLT 

■ FB50X9

SUPPORT (INCLUDED) PLATE PL6X50 

HMI
M H O LESR U -

PL12 -
PL9

-UrVP

DETAIL B
NTS

GALVANIZED STEEL PIPE SIZE 60.5X3.2X2000

- € + ■

SEE DETAIL A

HOLE «30MM

SEE DETAIL 8 MAST SECTI0N-10
1:15 SECTION A -A  

1:15

o





> I «-V» I

BILL OF MATERIALS

ITEM DESCRIPTION QTY.REQ.

1 BASE SECT10N 1

2 SECR0N-1 1

3 ;ection-2 1

4 3ECT10N-3 1

5 5ECTT0N—4 1

6 SECT10N-5 1

7 SECTTON-6 1

8 SECTTON—7 1

9 SECTTON—8 1

10 SECTTON—9 1

n SECTION— 10 1
12 GALVANIZED STEEL PIPE ,SIZE 50,4000 LONG 1
13 BOLT HEX.HEADT1S291 VOLUMEI M16X55-8.8 72

14 BOLT HEX.HEADT1S291 VOLUMEI M12X45-8.8 49
15 BOLT HEX.HEADTIS291 VOLUMEI M12X80-8.8 1

16 ATASHER ROUND FLAT M16 72

17 WASHER ROUND FLAT M12 49
18 'lUT.HEXAGON M16 72

19 WT.HEXAGON M12 49

NOTE 1. THE CONCREIE FOOTTNG SHALL BE PROVIDED BT PEÄ.

2. ALL LEGS AHO SPACES SHALL BE MANUFACTURED AND TESTED ACCORDING TO TIS20 

HAVING CHARACTERIST1C AS FOLLOWS : THICKESS OF ZINC COATING > 50 m

TENSILE STRESS > 39 KG2 

Y1ELD STRESS > 24 KG/MM2

3. EACH SECTTON SHALL BE MARKED IDENTITY NUMBER.

4. 40MM STEEL ROD SHALL BE ACCORDING 10 THE MANUFACTURER’S STANDARD.

5. ALL DIMENSIONS ARE IN MILLIMETERS.

120X120X15 MM FLANGE ;4-B0LT M18X55 MM ON 100mm 8C;15 mm F1LLET WELO 

ÜEBlL-fi 90X90X12 MM FLANGE ;4-B0LT M16X55 MM ON 80mm BC;12 mm F1LLET WELLT 

PET/WL L: 90X90X9 MM FLANGE ;4-80LT M12X45 MM ON 60mm 8C;9 mrri FILLET WELD

f



£00


